

04/16/2024

Page 1 of 1

Vendor Ranking

Letting: 08240409 April 09, 2024 02:30 PM **Call Order:** 011 **Contract:** E8V23-R0

District: Turnpike Counties: BROWARD, INDIAN Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS

RIVER, MARTIN, MIAMI- Project(s): 40402917213 (*)

Contract Desc: TRAFFIC CONTROL DEVICES - ZONES I & II

DADE, OKEECHOBEE,
OSCEOLA, PALM BEACH,

ST LUCIE, TURNPIKE

Ran	v Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	BOB'S BARRICADES, INC.	Responsive	Winning bid	\$207,705.00	100.00% Intent to AWARD
2	ACME BARRICADES LC	Responsive	Non-Winning Bid	\$342,900.00	165.09%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.

POSTING DATE AND TIME: APRIL 16, 2024 AT 4:00 PM





Tabulation of Bids

Page 1 of 4

Letting: 08240409 April 09, 2024 **Call Order:** 011 **Contract:** E8V23-R0

District: Turnpike Counties: BROWARD, INDIAN Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS

RIVER, MARTIN, MIAMIProject(s): 40402917213 (*)

Contract Descr: TRAFFIC CONTROL DEVICES - ZONES I & II

DADE, OKEECHOBEE,
OSCIOLA BALM

THIS IS A RE-ADVERTISEMENT.

OSCEOLA, PALM BEACH, ST LUCIE,

TURNPIKE
The work specified in this contract consists of providing all labor, materials, equipment, and incidentals necessary to provide traffic control devices at various locations on the Homestead Extension of Florida's Turnpike (SR 821) MP 0.0 to 47.9, Florida's Turnpike (SR 91) MP 0.0 to 237.0, and the Sawgrass Expressway (SR 869) MP 0.0 to 21.8.

NO BID CONFERENCE WILL BE HELD FOR THIS CONTRACT.

Line No / Item ID Item Description		Alternate	Quantity Units	(1) BOB'S BARRICADES, INC.		(2) ACME BARRICADES LC			
	dicates item is bi	d as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	MAINTENANC	E SUPPORT SER	VICES (MH				
0005 TRAFF	0102 14 IC CONTROL (OFFICER	100.000 HR	90.00000	9,000.00	90.00000	9,000.00		
0010 WORK	0102 60 ZONE SIGN		300.000 ED	0.50000	150.00	10.00000	3,000.00		
	0102 62 13 ER MOUNTED NDEX 700-013		90.000 ED	0.50000	45.00	10.00000	900.00		
	0102 74 1 IELIZING DEV UM, OR LCD	ICE- TYPES I, II,	20,000.000 DI, ED	0.50000	10,000.00	0.75000	15,000.00		
	0102 76 V BOARD / AD V PANEL	VANCE WARNII	100.000 NG ED	10.00000	1,000.00	150.00000	15,000.00		
_	0102 99 BLE CHANGE FEMPORARY	ABLE MESSAG	400.000 E ED	15.00000	6,000.00	25.00000	10,000.00		



Page 2 of 4

Florida Department of Transportation



Tabulation of Bids

Letting	: 0824040	9 April 09, 2024	Cal	l Order: 011		Contract:	E8V23-R0	
	No / Item ID Al Description	ternate Quantity Units	(1) BOB'S BARE	RICADES, INC.	(2) ACME BAR	RRICADES LC		
() indi	cates item is bid as Lum	np Sum	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION: 0001	(MAINTENANC	E SUPPORT SER	VICES (MH				
PORTAB	0102 99 1 SLE CHANGEABLE M EMPORARY, DEPAR DLLED		15.00000	2,250.00	30.00000	4,500.00		
	0102115 BARRICADE	600.000 ED	0.10000	60.00	5.00000	3,000.00		
	0102150 1 SLE REGULATORY, S	10.000 BIGN ED	10.00000	100.00	25.00000	250.00		
	0102150 2 SPEED DISPLAY UN	10.000 IT ED	10.00000	100.00	25.00000	250.00		
	E101 72 ATION (EMERGENC ISE)	100.000 Y EA	1,000.00000	100,000.00	2,000.00000	200,000.00		
0060 TRAFFIC	E102 74 9 CONES	50,000.000 ED	0.50000	25,000.00	0.50000	25,000.00		
	E102 97 1 MOUNTED ATTENU <i>A</i> RARY)	10.000 ATOR ED	850.00000	8,500.00	1,500.00000	15,000.00		
	E102100 INTENANCE SERVIO	700.000 CES HR	65.00000	45,500.00	60.00000	42,000.00		



04/16/2024

Tabulation of Bids

Page 3 of 4

Letting:	08240409	April 09, 2024	Ca	all Order: 011		Contract:	E8V23-R0	
Line No / Item		ate Quantity Units	(1) BOB'S BAF	RRICADES, INC.	(2) ACME BA	RRICADES LC		
() indicates item	is bid as Lump Sur		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount

SECTION: 0001 (MAINTENANCE SUPPORT SERVICES (MH

0001 MAINTENANCE SUPPORT Section Totals: \$207,705.00 \$342,900.00

SERVICES (MH)

Contract Grand Totals: \$207,705.00 \$342,900.00



04/16/2024

Tabulation of Bids

Page 4 of 4

Letting: 08240409

April 09, 2024

Call Order: 011

Contract:

E8V23-R0

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.